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Sl. No.1
QBID:1554931

Choose the correct form of verb to fill n the blank.

Will the union leader ?

(1) arrested

(2) be arrested
(3) was arrested
(4) were arrested
%Y gad oivH &1 e S 9 & forg f fos &1 van fem e g 2
(1) &4

(2) FIF=Hg

(3) EHg

(4) %

1[Option ID=8201]
2[Option ID=8202]

3[Option ID=8203]
4[Option ID=8204]

Sl. No.2
QBID:1554932

Choose the appropriate preposition to complete the sentence :

The young child carried the heavy bucket the stairs.

(1) by

(2) from

(3) above

(4) besides
ot d e s s ds 781 2
(1) TeHaE®

(2) FoEmEs

(3) UErER

(4) HHAEE
1[Option ID=8245]
2[Option ID=8246]

3[Option ID=8247]
4[Option ID=8248]




Sl. No.3
QBID:1554933

Pick out the correctly spelt word.
(1) accommodation

(2) acommodation

(3) accomodation

(4) acmodation

T d s s R<iyaa g ?
(1) &g

(2) ™35

(3) HIP3S

(4) @

1[Option ID=8273]

2[Option ID=8274]

3[Option ID=8275]
4[Option ID=8276]

Sl. No.4
QBID:1554934

Identify the correct form of indirect speech of the followmng sentence.

Arpit says, "She is an ntelligent girl".

(1) Arpit says that she 1s an mtelligent girl.
(2) Arpit said that she is an intelligent girl.

(3) Arpit said that she was an mtelligent girl.
(4) Arpit asked him if she is an intelligent girl.

= &1 B 13U T & 0 SifHsu (Assertion A) % ¥4 H fif€d € a1 guv 396 SR
(Reason R) & ¥4 #

HEYT A - 9ul & SR 1 I F vad $5d 51"

HRU R : ol &1 o & YR WY WOd S ¥ & 51d & - Mol a4 SR a1l
prCy

SUilad HYF & el H, A9 [3U M0 Geedl H 9 999 Iuged 9T S 994 i
(1) A SRR EHE T8 8 #RR, A & 95 Orem &

(2) A SRR Ml 981 8 9fEA R, A 31 981 sarem 181 &

(3) ATSZ AR O AR

(4) ATEl RIBaFA R W 2

1[Option ID=8277]
2[Option ID=8278]
3[Option ID=8279]
4[Option ID=8280]




Sl. No.5
QBID:1554935

Rearrange the followmg parts of a sentence labeled as PQRS to make a
meaningful sentence

P Your hope for
Q if money is
R never have it

S mdependence you will
(1) QPSR
(2) R5PQ
(3) PQRS
(4) RP3Q

H g1 #uH U U §: UF SAfFUT (Assertion A) F ¥U H fifEa § a1 gOU 39S RO
(Reason R) & &4 #

@Y A 2 UF T1 TF 9§ i@ ERf § 51 g5 oy, g e a1 wes sea g1

FRU R : F5 aR G401 & FRYE 995 1 1 Wes FE1 11§ |

SR HYA & A H, - G T Teed! § 9 999 Iugad IR &1 994 S
(1) A SRR EHE T8 8 #RR, A & 95 Orem &

(2) A 3R R Ml 981 8 9fEA R, A 31 951 sarem 781 &

(3) ATSZ AR O AR

(4) ATEl RIeaFA R W 2

1[Option ID=8281]
2[Option ID=8282]
3[Option ID=8283]
4[Option ID=8284]

Sl. No.6
QBID:1554936

Pick out the antonym of 'spoil'.
(1) dignity

(2) embellish

(3) abolish

(4) abandon




TR AN E F e d sH-9 FUT TR 2 7

A. a1 & yged £ @ U5d Mg WA B0 & |
B. T Hyged e & al¢ Wl ¥eg oA B0 © |
C. 9180 # Ugad 5 & uIG ¥ex a1ad & {67, 999, SRS AR a1 & s 9§ ergafaa

HEEIGIER
DO oHi TN e e TRl S W & |
E. 9t iR 98 oa: TF 51 & |

4 fed o fasedl & 9 981 SO &1 90 Sifo:
(1) AFRE
(2) A3RD
(3) AsRC
(4) C3IRD

1[Option ID=8285]
2[Option ID=8286]
3[Option ID=8287]
4[Option ID=8288]

SI. No.7
QBID:1554937

Pick out the meaning of underlined idiom in the following sentence.

The judge called for an explanation of his misconduct.
(1) demanded

(2) desired

(3) discussed

(4) repeated

i 1S 1Y Gl 11 D1 FHeH Difore:
I I
A.Gﬁﬂm%ig’?ﬁ:r*r 1 Eﬁw

B[] i T A B! I wﬁﬁu

lc. Iﬁmwaﬂéﬂ?:ré’{ 111 | 3{RITCI=T
D [ 15 S = BV, |#{fdd

Ad feu U faedl § ¥ el 3R &l 9g+ Hifolu:
(1) A-II B-IIL, C-IV, D-I
(2) A-L B-IL. C-TII. D-IV
(3) A-IIL B-IV, C-I, D-II
(4) A-IV, B-L C-II, D-III

1[Option ID=8289]
2[Option ID=8290]




3[Option ID=8291]
4[Option ID=8292]

Sl. No.8
QBID:1554938

Choose the correct passive voice form of the following sentence :

You can take it away.

(1) It can be taken away.
(2) You have taken it away.
(3) It can't be taken away

(4) You have the choice to take it away.

2 &1 s faw o E:
HYA-1 ; H T HeTad &1 AT § - | o |
FUF-I1 : AT oo § o931 o 7 - e s

IWRIad ®YH & HE H, A fgu 70 fGweal # 9 Fel Su &1 99 i
(1) F¥A-1 3R FYF-II ST 9 &

(2) HYF-] 3R HUF-I1 1 390 &

(3) Hu-] ¥ &, Wit BY-I] 39 2

(4) BYA-I 30 &, e SUA-I1 94 &

1[Option ID=8293]
2[Option ID=8294]
3[Option ID=8295]
4[Option ID=8296]

Sl. No.9
QBID:1554939

Pick out the synonym of the following word.

Languid
(1) lazy

(2) smart
(3) genius

(4) wmtelligent

fofefaa § e o0 & oA a8 € 2

e




(1) FEa A, B iR C
(2) 3@ B, C 3R D
(3) HTA A, C 3R D
(4) Haa C.D AR E

1[Option ID=8297]
2[Option ID=8298]
3[Option ID=8299]
4[Option ID=8300]

Sl. No.10
QBID:15549310

Choose the correct sentence.

(1) They never go on holiday. do they ?

(2) They never go on holiday, don't they ?
(3) They never go on holiday, haven't they ?
(4) They never go on holiday, did they ?

Foieiaa o=l &1 3 FHgER ouaiyd Sifae:

A fgHissgaR e &
B. 0% goR a8 9

C. UF 9l 181 I ¥l
D. 4% 970 a&

E. 1% i yaferd v

A fad o fasedl & 9 981 IO &1 997 Sifo:
(1) ABCDE

(2) AEBDC

3) EBDCA

(4) BDCAE

1[Option ID=8205]

2[Option ID=8206]

3[Option ID=8207]
4[Option ID=8208]

Sl. No.11
QBID:15549311

What is a Green Chip company ?

(1) That focuses on eco-friendliness.
(2) That focuses on forest products.

(3) That has no loan pending.

(4) That has not launched IPO yet.
W= g st edi g 2

(1) S vioRu fiEa R $iEa ¢




(2) o g9-IAEl W Hisd wdl ol
(3) WS BUsHE Ao & |
(4) o onft srgdtaf =1 g A S 8

1[Option ID=8209]
2[Option ID=8210]
3[Option ID=8211]
4[Option ID=8212]

Sl. No.12
QBID:15549312

When Waquar Younis. the Pakistani fast bowler made his debut in Test Cricket
at Karachi, there was a batsman from the visiting side, who also made his debut.
Who was he ?

(1) Rahul Dravid

(2) Saurabh Ganguli

(3) VVS Laxman

(4) Sachin Tendulkar

g UIiEEIH] o Hea, 6N g7d S Sl H ok hde "o g fear i, 99 fafy ga
®1 AR T UF Fovard 5 W o0 TR-uiaT # e &1 A | 9 S U1 2

(1) Vg &EfEs

(2) HRH T
(3) T1E0T T

(4) |EA dgasx

1[Option ID=8213]
2[Option ID=8214]
3[Option ID=8215]
4[Option ID=8216]

Sl. No.13
QBID:15549313

Match List I with List 1T

el List IT

(Makeup colors used in Used for/by

Kathakali
A. Green T Evil characters
B. Red II. Noble and Sages
. Black III. Divine Bemngs
D. White Beard IV. Forest dewellers / hunter

Choose the correct answer from the options given below :
(1) A-IL B-I, C-IV, D-III
(2) A-IV, B-III, C-II, D-I




(3) A-L B-II, C-III, D-IV
(4) A-III, B-IV, C-I, D-II

= 1 & =1y g4l 11 &1 faae Sife:
i 1 gt I
(@UHel # IR g W 1) (e g1 W)
A, Rl L. ERSCIEE]
B. T 11. TR S Y
. HIe 1. <dig ofig
D. g Glel IV. TS

i feu 7Y el & 9 96l SR &1 994 S
(1) A-II. B-1, C-IV. D-IT1

(2) A-IV, B-III. C-II. D-I

(3) A-I, B-IL, C-III. D-IV

(4) A-IIL B-1V, C-1, D-I1

1[Option ID=8217]

2[Option ID=8218]

3[Option ID=8219]
4[Option ID=8220]

Sl. No.14
QBID:15549314

Je suis Charlie (I am Charlic) was a slogan spread around after terrorist attacked
on :

(1) Charlie Charlie - Children's magazine

(2) Charlie - the footballer

(3) Charlie - the Restaurant

(4) Charlie Hebdo

fore Iia W STdHardl TA0 & SIa o W3 91l (8§ 91 @) $1 R 911 SR Hemn 77T o

(1) = 9w - a=t B uEeT
(2) = - Fearm Bt

(3) =7 - TRl

(4) =l & A=t

1[Option ID=8221]

2[Option ID=8222]

3[Option ID=8223]
4[Option ID=8224]

Sl. No.15




QBID:15549315
Who opened the National Library m Kolkata m 1953 ?

(1) Jawaharlal Nehiu

(2) Sardar Patel

(3) Maulana Abul Kalam Azad
(4) Dr. B. C. Roy

1953 H SIosal H HEHa tgsil [{PE W) fee- e ?
(1) Wargar J5e

(2) WER Ueh

(3) HEHT SgT FOH HFE

(4) == 9 g

1[Option ID=8225]
2[Option ID=8226]
3[Option ID=8227]
4[Option ID=8228]

Sl. No.16
QBID:15549316

Find the missing alphabet

BDGK. EGIN, MORV.L
(1) LNPS
(2) LNQV
3) LMQV
(4 LNQU

FofefEa Jea & @ seR Tasy -

BDGK. EGIN, MORV.L
(1) LNPS

(2) LNQV

3 LMQV

(4 LNQU

1[Option ID=8229]

2[Option ID=8230]

3[Option ID=8231]
4[Option ID=8232]

Sl. No.17
QBID:15549317

D. E. F. G, H. I are six persons sitting around hexagonal table. each at one
corner and facing the center of the table. D is second to the left of I. E is the
neighbour of F and G. H is second to the left of G. Find who are the neighbours
of H.

(1) Dand G




(2) DandlI
(3 DandE
4) Iand G

D.E.F. G, H 3R 1 U% YeYollg ¢ad & 9RI 3R 48 §U ©: odiad o | 8% odiad
waﬂﬁwéa%ﬁ%aa%aﬁﬁ&mﬁﬁﬁmﬁq%l%aﬁmg@
WFWRDEIFIRGPIUSIESIGP a5 IRGMYFAWRHT | HD
TS BT 2

(1) D3RG

(2) D3RI

3) D3RE

(4) 13RG

1[Option ID=8233]
2[Option ID=8234]
3[Option ID=8235]
4[Option ID=8236]

Sl. No.18
QBID:15549318

Of the 100 students in a class. anyone who chooses to study English also studies
computer science. However. no student choose to study English and Physics. 16
students do Physics and computer Science. All the students do at least one of the
three subjects. No. of students who study only one subject 1s more than students
who study more than one subject. What are the maximum number of students
who could have studied Physics only?

(1) 16

(2) 44

(3) 84

(4) 68

100 STHf #1 TF ST & o F15 30T 9g- &1 T3 &1 & 1 98 $rgex [Ga O 9gar &
| &1 W I e AR YS! &1 owas S &1 419 T8 ST | 16 3 sl AR
HHEX 49 &1 991 &3 & | 9K 814 dH1 [9uai § § $9 § &F U6 999 ugd ¢l $ad
% 9T gg- a1d I B 96 UE ¥ Hfie Gug ggd o o #9196 ¥ afte § | Saa
Uifas! ugs o 3= F1 HUsaq 980 591 5 9Fdie |

(1) 16

(2) 44

(3) 84

(4) 68

1[Option ID=8237]
2[Option ID=8238]
3[Option ID=8239]
4[Option ID=8240]

Sl. No.19
QBID:15549319




The following question has an underlined word. Choose the word from the given
choices that is essential part of the underlined word.

Electric Mixer
(1) Jug

(2) Motor
(3) Stand
(4) Switch

i vy H oe T@ifed Weg § | 15U U fAeedl & € T weg 9T O T@ifed Weg &1
e et 5l |

fega five cofes e
(1)
(2) A==
(3) ¥
(4) &g

1[Option ID=8241]
2[Option ID=8242]
3[Option ID=8243]
4[Option ID=8244]

Sl. No.20
QBID:15549320

Select a suitable figure from the Answer figures that would replace the question
mark (?)

Question Figure Answer Figure
* O ee -
23| (es e
a) (®B) (© (@D (1) (2) (3) 4)
(1 1
(2) 2
(3) 3
(4) 4

IR ATl § ¥ U I AHid ST 989 BT & WY APHiagi § uyaEs &g & W= o
T |

Ty AR ST TR
L L LIE ] -
RN o % 05
a) @ © (D (1) @ 6 @
1) 1




(3) 3
4) 4

1[Option ID=8249]
2[Option ID=8250]
3[Option ID=8251]
4[Option ID=8252]

Sl. No.21
QBID:15549321

In how many ways can 7 different balls be distributed in 5 different boxes. If any
box can contain any number of balls except that ball 3 can only be put into box 3
or box 4 7

(1) 2«6

(2) 6°

(3) 2 x50

(4) 56

ford dRID | T 7 S-S Tia] Bl 5 SAT-3ei fSedl H fadid fobar o Idar
g Ofe @&Is +ff fEsar fara-it off 73 & T v urd fyary 39 o e 9w 3
Had [Sea] BT 3 UT4 H g1 ¥d o addi © |

(1) 2«6

(2) 6°

(3) 2 x50

n

(4) 56

1[Option ID=8253]
2[Option ID=8254]
3[Option ID=8255]
4[Option ID=8256]

Sl. No.22
QBID:15549322

Given that 10048 =x_ 10070 = y and x* = Yz then the value of z 1s close to :
(1) 3.7

(2) 2.9

(3) 1.88

(4) 1.45

afg 10048 =x, 10070 = y &R <2 = y2, & z &1 714 feas Fee g 2

(1) 3.7
(2 2.9
(3) 1.88
(4) 1.45
1[Option ID=8257]
2[Option ID=8258]

3[Option ID=8259]
4[Option ID=8260]




Sl. No.23
QBID:15549323

In how many ways can 9 different colour balls be arranged in a row so that
black, white, red and green balls are never together ?

(1) 146200

(2) 219600

(3) 314562

(4) 345600

fram aftel 9 v 40 # 9 srav-emr ¥ 2 e = el fEa o1 wea € i e,
Hibe, Tra 3R &4 S @l Wy A w2

(1) 146200

(2) 219600

(3) 314562

(4) 345600

1[Option ID=8261]

2[Option ID=8262]

3[Option ID=8263]
4[Option ID=8264]

Sl. No.24
QBID:15549324

A tap can fill a tank in 6 hours. After half the tank is filled, three more smmilar
taps are opened. What is the total tume taken to fill the tank completely ?

(1) 3 hrs 15 min

(2) 4 hrs 15 min

(3) 3 hrs 45 min

(4) 4 s

0% 0 U $76 $I 6 He H WY UHdl ¢ | T9 A1 ¢& WX o1al & ol 91 ade & aF 3 7d
T U o £ / 39 S &1 I @E W B Fa o 99 e 2

(1) 3de 15 e

(2) 49215 e

(3) 3+e 45 e

(4) 474¢

1[Option ID=8265]

2[Option ID=8266]

3[Option ID=8267]
4[Option ID=8268]

SI. No.25
QBID:15549325

A person takes 20 minutes more to cover a certam distance by decreasmg hus
speed by 20%. What is the time taken to cover the distance at his original speed
£

(1) 1 hr
(2) 1 hr 20 mun




(3) 1 hr 10 mn

(4) 50 mm

e &I dfad S9-1 918 B 20% 521 ¢ af 39 Uh Hidd gl & 79 & § 399 20 e
e T § | 39S HE 910 9 99 95 gdl ad S § a1 §Ag TR ?

(1) 192

(2) 1 e 20 F=e

(3) 1d¢ 10 WAe

(4) 50 o

1[Option ID=8269]

2[Option ID=8270]

3[Option ID=8271]
4[Option ID=8272]

Sl. No.26
QBID:1424751

Bandwagon effect makes demand more
(1) melastic

(2) elastic

(3) remains same

(4) unitary elastic

CRLUER ] (Bandwagan effect) HITT Dl H@Tﬁ_ CRIGIE
OB KIENI]

(2) FreRid

(3) HHIH

(4) SHE A

1[Option ID=7901]
2[Option ID=7902]
3[Option ID=7903]
4[Option ID=7904]

Sl. No.27
QBID:1424752

With reference to the Bertrand model, which of the following is correct?
(1) The duopolists recognize their interdependence

(2) It explains price rigidity

(3) Each duopolist assumes that the other keeps its price constant

(4) Each duopolist assumes that the other keeps its quality constant
921S (Bertrand) Aisd & 9= &, 9 & 9 19-91 981 &7

(1) fe-sifterdl st sust Fafear o=d &)

(2) T FHI Tedl F1 9o &l B

(3) waiF fG-ofiFil AFa & & oFg ot #ma R W)




(4) 7w e A & & o o 7 (quantity) R W)

1[Option ID=7945]
2[Option ID=7946]
3[Option ID=7947]
4[Option ID=7948]

Sl. No.28
QBID:1424753

If the demand for agricultural products 1s inelastic. then
(1) As the prices decrease. the revenues earned by producers increase
(2) As the prices decrease. the revenues earned by producers decrease

The percentage decrease in prices is lower than the percentage mcrease in

3
) demand

(4) Rising prices do not lead to differentiation in producers income
afe F Iare! Fi 7 Fa= & d -

(1) SAd Sg4 T, IdeH! g Afvid 1T Fgdl ol

(2) FHd IRA W, SAes! gR1 3o oM ged &

(3) HiHGl H Wic=d &4, JiF H Hia=d $H 9 & 5|

(4) Tgdl HHT SdgH! &1 HE H Fudis T8 St 2

1[Option ID=7989]
2[Option ID=7990]
3[Option ID=7991]
4[Option ID=7992]

Sl. No.29
QBID:1424754

A fall in the price of a commodity whose demand curve 1s a rectangular
hyperbola causes total expenditures on the commodity to

(1) Increase

(2) Decrease

(3) Remam unchanged

(4) Increase with constant rate
U g foreest AT 8 SadieR AdWRaTd (rectangular hyperbola) ®1 #Hd # 54 W
(1) =&

(2) =em

(3) famwm

(4) BRI TEW

1[Option ID=8033]

2[Option ID=8034]

3[Option ID=8035]
4[Option ID=8036]

Sl. No.30
QBID:1424755




The Engel curve for a Giffen good s
(1) Negatively sloped
(2) Positively sloped

(3) Vertical

(4) Horizontal

RIth 1 T%] &1 Uoid g BIT-
(1) "AFNIHE @ld

(2) HFNIHF eld

(3) wHEdd

(4) &fgw

1[Option ID=8077]
2[Option ID=8078]

3[Option ID=8079]
4[Option ID=8080]

Sl. No.31
QBID:1424756

In the case of price leadership by the dominant firm, all the firms in the purely
oligopolistic mdustry will produce their best level of output

(1) Always

(2) Never

(3) Sometimes

(4) In short run

T B R, A Ag9d 31 U F, % seaiiei TR # o BF 99 Sdea &
HaToH 'R &1 Sdgd Bl

(1) zH=m

(2) i =&l
(3) HaFEH
(4) @ H

1[Option ID=8121]
2[Option ID=8122]
3[Option ID=8123]
4[Option ID=8124]

Sl. No.32
QBID:1424757

The Golden Rule rate of savings refers to

(1) that level of savings which is the maximum possible achievable in an economy
(2) that level of savings rate where the consumption 18 maximised at the steady state
(3) that level of savings rate where the consumption is minimised at the steady state
(4) any level of savings rate

g9d @I e o8 X fFe S 968fia § 2

(1) & Wi srlomewyl A S=an wifa Wik aren s94 &1 R




(2) =94 X &1 95 TR 9ol R a1 TR SUHAT AfIFan § |
(3) o0 &¢ & 9% WR el (R SaRl § IUUF IHag § |
(4) =94 X &1 &5 TR

1[Option ID=8165]
2[Option ID=8166]
3[Option ID=8167]
4[Option ID=8168]

Sl. No.33
QBID:1424758

The best or optunum level of output for a perfectly competitive firm 15 given by
the pomt where

(1) MR equals MC

(2) MR equals AC

(3) MR exceeds MC by the greater amount

(4) MR equals MC and MC is rising

us Wit wH &1 wata / SPan Sdied fag ®el o ?
(1) MR =R 8 MC

(2) MR ¥R & AC

(3) MR, MC ¥ sga J1&1 &

(4) MR ST § MC @21 MC 52 %1 2|

1[Option ID=8193]
2[Option ID=8194]
3[Option ID=8195]
4[Option ID=8196]

Sl. No.34
QBID:1424759

Aggregate demand is -

Negatively related to the price level because a decline m the price level has a

(1) negative effect on the demand for output.

Negatively related to the price level because a decline m the price level has a

) positive effect on the demand for output.

Positively related to the price level because a decline in the price level has a

(3) negative effect on the demand for output.

Positively related to the price level because a decline in the price level has a

“4) positive effect on the demand for output.

AT |1 &-
(1) FIHT TR G TERAF Y I Ta5 &, i SHTER § BH 1 IdIE & A ) AERHS
THIG BidT B

FIHT WR G TERIAS 0 I Ta5 & HJile $IAd TR A $H 54 F1 IdI€ &1 A T

2
2) AHNIHS UHE BIal B




(3) FiAd R & 9EREF T9 4 GG ¢ Hdife HIAd w1 § $Al 51 1 IdE S 7 01
THRHEF UG 5l o

FIHT TR § TPRIHE ¥9 § TG ¢ ife HAd T § S0 &1 I $1 A W I6RIAS

a4
(4) THIG ¢

1[Option ID=8197]
2[Option ID=8198]
3[Option ID=8199]
4[Option ID=8200]

Sl. No.35
QBID:14247510

The demand for money is -

(1) Positively related to output and the rate of interest.

(2) Inversely related to output and the rate of interest.

(3) Inversely related to output and Positively related to the rate of nterest.
(4) Positively related to output and inversely related to the rate of interest.
ool &1 AF-

(1) IdIe 9 & &1 g § GFRNIHAS 959 ¢

(2) IEEA T &9 B X A SRS 969 G

(3) I § TFNIHE § & & X § THNIHS 989 &

(4) FAEA ¥ FFNES 9 o0 B o2 9 AGRIES 99y g

1[Option ID=7905]
2[Option ID=7906]
3[Option ID=7907]
4[Option ID=7908]

Sl. No.36
QBID:14247511

The user cost of capital is :

(1) The real rate of interest
(2) The nomuinal rate of interest
(3) The real rate of interest plus the rate of depreciation

(4) The nominal rate of interest plus the rate of depreciation
Uofl #1 IUOF AN (user cost) &-

(1) =0 @ arside &

(2) =0 & 9gd ¥ A R

(3) = &I Trld® &Y + Hede &1 X

(4) =T F1 THg ST + g HI &X

1[Option ID=7909]
2[Option ID=7910]
3[Option ID=7911]
4[Option ID=7912]

Sl. No.37




QBID:14247512

When o = 3/4 and p = 1/4 for the Cobb Douglas production function, returns to
scale are

(1) Constant

(2) Increasing

(3) Decreasing

(4) First mereasing and then decreasing

e = 3/4 U B = 1/4, 78 Fid SE I@EA B , TH & ufawad gi-
(1) HHIA

(2) @ed

(3) wed

(4) U™ H sgd [ ged

1[Option ID=7913]
2[Option ID=7914]
3[Option ID=7915]
4[Option ID=7916]

Sl. No.38
QBID:14247513

The natural rate of unemployment equals the sum of :

(1)
(2)
(3)
(4)

Frictionally and structurally unemployed
Frictionally and cyclically unemployed

Structurally and cyclically unemployed
Frictionally, structurally and cyclically unemployed

ST F1 Uiplas ) 59 & g7 & s &2

(1)
(2)
(3)
(4)

YU AR SIS Ao

gy USaa R T ST
TS SR TG ST
YU, SXETE® AR Fb1g ST

1[Option ID=7917]
2[Option ID=7918]
3[Option ID=7919]
4[Option ID=7920]

Sl. No.39
QBID:14247514

Which of the following statements is correct?

(1)

(2)

(3)
(4)

A variable 1s endogenous when its value is determined by the forces outside the
model.

A change in an exogenous variable is classified as an autonomous change.

A variable 1s exogenous when its value is determined by the forces within the
model.




A varable 15 autonomous when its value 1s determined by the forces within the
model.

Fofefaa § @ 199 sy 98 -
(1) UF 9 H=<iold & afg 591 Hed Aied & e aar 9 Fuifa gar 21

2) gﬁmﬁ =R # gikad $I WEW 9Ra0T (autonomous change) ¥ =9 ® aifigea (a1 oral
[

(3) UF I fewd &1 o6 SHE o AIsd & s gai 9 i g
(4) UF 9 WO § 99 5961 Ied 3180 & HaNE ol | Hyid gra ol

1[Option ID=7921]
2[Option ID=7922]
3[Option ID=7923]
4[Option ID=7924]

Sl. No.40
QBID:14247515

According to the Phillips curve. unemployment will return to the natural rate when

(1) Normal wages are equal to expected wages.
(2) Real wages are back at long-run equilibrium level.
(3) Nominal wages are growing faster than inflation.

(4) Inflation 1s higher than the growth of nominal wages.

fpTere ah & SIUR, aRISHIRI, WIpldd ¥l U dd 1T &e-
(1) T Hogl, YR Holgl & axIaR st |
(2) ARG Torgdl GrddTe Gda- TR IR dled! (back) T

(3) HIfE® Aoige], GERPId 3 oo 961 g
(4) TRGITd, Aifge Tugsl 3 aig I 3% gl g

1[Option ID=7925]
2[Option ID=7926]
3[Option ID=7927]
4[Option ID=7928]

Sl. No.41
QBID:14247516

The coefficient of Non-determination is equal to -

Explained Variance
Total Variance

(1)

Unexplained Variance
Total Variance

(2)

(3) 1+ Explained Variance

Total Variance
Unexplained Vanance

(4) 1+ T
Total Variance




1[Option ID=7929]
2[Option ID=7930]
3[Option ID=7931]
4[Option ID=7932]

Sl. No.42
QBID:14247517

If the two lines of regression are perpendicular to each other then the value of
coefficient of correlation is -

(1) O

(2) +1

3) -1

(4) 2

afg EH! I TET U go & aiEad & of Seeia uie &1 JF 71 G
(1) O

(2) +1

3) -1

(4) 2

1[Option ID=7933]
2[Option ID=7934]

3[Option ID=7935]
4[Option ID=7936]

Sl. No.43
QBID:14247518

The number of terms in the expansion of the binomial distribution (a + b)* is -
(1) 4

(2) 5

(3) 6

(4) 3

g 527 (g + b)* ¥ TR & Ut 31 S=m = g

(1) 4




(2) 5
(3) 6
4) 3
1[Option ID=7937]
2[Option ID=7938]

3[Option ID=7939]
4[Option ID=7940]

Sl. No.44
QBID:14247519

What is the integral of cosec? x with respect to x?
(1) tanx +C

(2) secx+C

(3) tanx +C

(4) —cotx+C

x & AU cosec? x 1 GHIHA T GFTI?
(1) tanx +C

(2) secx +C

(3) tanx+C

(4) —cotx+C

1[Option ID=7941]

2[Option ID=7942]

3[Option ID=7943]
4[Option ID=7944]

Sl. No.45
QBID:14247520

For the set A = {3. 4}, find Power Set P(4)
1) {{3}. {4}}

2 {{3}. {4}. {3.4}}

3 { O - 33 {43}

@) 1o -3} {4). 3.4}}

T 4 = {3, 4} & fou =ied (Power) ¥9=0 P(4) T1d &1-
1 {{3}. {4}}

2) {{3}. {4}. {3.4}}

3 {o¢ -3} {41}

@) 1o -3} {4}). 3.4}}

1[Option ID=7949]

2[Option ID=7950]

3[Option ID=7951]
4[Option ID=7952]

Sl. No.46
QBID:14247521




If the international terms of trade settle at a level that 1s between each country's
opportunity cost. then

(1) There 1s no basis for gainful trade for either country
(2) Both countries gain from trade
(3) Only one country gains from trade

(4) One country gains and the other country looses from trade

afe 3RITTY AR P Wd &1 SR P 3G AR H §i< 79 Bidi & d9.

(1) ST S & T ArHB R AR ST 6ls SMYR el o

(2) 3 S &I IR & A1y gidT 8

(3) PHad UP o &I AR I HIael 8idl g

(4) UD X P AIR Y ATH BId1 § SR gL ¢X &I AR I 81 8ldl 5 |

1[Option ID=7953]
2[Option ID=7954]
3[Option ID=7955]
4[Option ID=7956]

Sl. No.47
QBID:14247522

Haberler's theory of opportunity cost is represented by
(1) Indifference curves

(2) Isoquants

(3) Reaction curves

(4) Production possibility curve

T § BIF 2R $ AT ANIG GG B WS Rid Har 57
(1) Tedl 9%

(2) FHIAG

(3) wiagfFm a®

(4) TG GRS T6

1[Option ID=7957]

2[Option ID=7958]

3[Option ID=7959]
4[Option ID=7960]

Sl. No.48
QBID:14247523

An exchange rate which also takes into account the relative prices of products in
the countries being compared is known as -

(1) Appreciation in exchange rate
(2) Nominal exchange rate
(3) Real exchange rate

(4) Depreciation in exchange rate




o fbn o aret omif # fafmg o1 o ol €1 goaes Sl S o § vEar 8 o)
PEd &7

(1) Ao R H gE

(2) AT fAFED &

(3) Trafds &g =

(4) oo e H g

1[Option ID=7961]

2[Option ID=7962]

3[Option ID=7963]
4[Option ID=7964]

Sl. No.49
QBID:14247524

Which of the following is consistent with the idea of expansionary fiscal policy?
(1) The fact that government increases expenditure during recession.
(2) The fact that the tax of unleaded petrol 1s lower than that on leaded petrol.

The fact that as people's income mcrease the amount that they pay m taxes also

3) .
HICIEASES.

(4) The fact that congestion charges reduce tratfic mn the city centres.
9 # 9 sH-9 ffded= ey Hifd & AR ¥ adew w@arg 2

(1) ¥t F SR TN g Fel ol

(2) TS TR Uerd ® gal § &1 S a1 Yo W $X B 5l ol

(3) @ T 4 984 § 3% o B2 e H gedt e

(4) TG &al § 99 89 a9 Yeh o ¢fthd &4 aial ol

1[Option ID=7965]
2[Option ID=7966]
3[Option ID=7967]
4[Option ID=7968]

Sl. No.50
QBID:14247525

1 4
Find the minor of element 8 in the determunant A=[2 5
8 7 12
(1) 6
(2) -6
(3) 12
(4) —12
1 4 o
IRIUG A=[2 5 of HUg 8 DI Ty YRV JId B
B 7 12

(1) 6




(2) -6

3) 12

(4) —-12

1[Option ID=7969]
2[Option ID=7970]

3[Option ID=7971]
4[Option ID=7972]

Sl. No.51
QBID:14247526

For the total cost function C = 1000 + 120x + 14x% + x3, find marginal cost
function.

(1) 1000 +x + 14x% + 3x

(2) 120 + 28x + 3x2

(3) 28x + 3x?

(4) 120x2 + 1433 + x4

Fa aFd e C = 1000 + 120x + 14x2 + » & Ry Fara v wod 9 S
(1) 1000 +x + 14x2 + 3x

(2) 120 + 28x + 3x2

(3) 28x + 3x2

(4) 12052 + 1423 + 34

1[Option ID=7973]
2[Option ID=7974]
3[Option ID=7975]
4[Option ID=7976]

Sl. No.52
QBID:14247527

If the value of standard deviation 15 3 and that of arithmetic mean is 9 then find
the value of coefficient of vanation :

(1) 0.33%

(2) 33.33%

(3) 3.33%

(4) 0.03%

ofg A famem &1 919 3 § wd SEaiieda |1 &1 9 § o famw qoie &1 94 719 S
(1) 0.33%

(2) 33.33%

(3) 3.33%

(4) 0.03%
1[Option ID=7977]
2[Option ID=7978]

3[Option ID=7979]
4[Option ID=7980]

Sl. No.53
QBID:14247528




: : i :
For an economy, the marginal propensity to consume 18 5 and the marginal tax

rate 1s b the value of multiplier 1s

(1) 3

(2) 2
36

(3) .
3

(4) 12

v sforawyT & SuL Y deid vl % g IR dma R @ R é 24
g0 &1 919 o1 G2

(1) 3

(2) 2
36

(3) l
3
4) 12

1[Option ID=7981]
2[Option ID=7982]
3[Option ID=7983]
4[Option ID=7984]

Sl. No.54
QBID:14247529

In which year was the Kisan Credit Card started?
(1) 1995

(2) 1998

(3) 1994

(4) 2000

faram wige =12 fog of & urmy gam
(1) 1995

(2) 1998

(3) 1994

(4) 2000

1[Option ID=7985]

2[Option ID=7986]

3[Option ID=7987]
4[Option ID=7988]

Sl. No.55
QBID:14247530




If one of the regression coefficients value 1s greater than 1. then the value of the
second regression coefficient must be -

(1) less than 1

(2) greater than 1

(3) equal to 1

(4) equalto 0

gig U U= 0 &1 7 1 9 38 g, o gax Wiam- 0ie &1 714 §iT-
(1) 1954

(2) 19 3id=s

(3) 1 F e

(4) 0 F TR

1[Option ID=7993]
2[Option ID=7994]
3[Option ID=7995]
4[Option ID=7996]

Sl. No.56
QBID:14247531

On the imposition of a tariff. the welfare of a country improves
(1) irrespective of any other factor

When the dead weight loss due to production and consumption distribution is

2) oreater than terms of trade gain

When the terms of trade gains is greater than the losses due to production and

() consumption distribution

(4) under no circumstances

5t 5o & AR R, ¥W F Se & YR ST E -

(1) &4 4 o0 SR W wE G & |

(2) TE SS9 (HAUN) &7 Sdie SR IUUF Gae0 R oy &1 w6t 9 ¥ gar 2l

(3) T AR T4 & 0 IS ayl SUNF [GeR0 F R0 51 el el € e o 2
(4) T it oiv=ufa 7 =si1

1[Option ID=7997]
2[Option ID=7998]
3[Option ID=7999]
4[Option ID=8000]

Sl. No.57
QBID:14247532

In a symmetrical distribution the value of coefficient of Skewness 1s
(1) +1

(2) -1

3) 0

(4) 3




U% FHET g2 | [uaar uie &1 749 | 5
(1) +1

2) -1

3) 0

(4) 3

1[Option ID=8001]

2[Option ID=8002]

3[Option ID=8003]
4[Option ID=8004]

Sl. No.58
QBID:14247533

Rural landless employment guarantee program was launched m the year
(1) 1980

(2) 1982

(3) 1983

(4) 1985

foe ad # oo YFRH ASFIR TTRUE Tra-1 a1 1 157
(1) 1980

(2) 1982

(3) 1983

(4) 1985

1[Option ID=8005]

2[Option ID=8006]

3[Option ID=8007]
4[Option ID=8008]

Sl. No.59
QBID:14247534

Consumption : C = 100 + 0.84
i T=30

The output produced by the economy is 800. The level of unplanned mventories 1s
(1) 100

(2) 10

(3) 10

(4) 150

JUHNAT -C = 100 + 0.84
1=50

i rfcqawl gRI 3UH SM¥TYE D1 HF 800 § Al [841 TSl & R @ T
Y T TR TG 2

(1) 100




(2)

10

(3) —10
(4) 150

1[Option ID=8009]
2[Option ID=8010]
3[Option ID=8011]
4[Option ID=8012]

Sl. No.60
QBID:14247535

Match List I with List IT :

LISTI LISTII
Investment
£ | Rinioalioe L |BiE.Balin
B Emplovment I Milton
© | Multiplier " |Friedman
Eestatement of
g |Wegmnbty | GG b e
theory of
money
D, Supply S.ide IV. |J. M. Kevnes
ECONOIICS 5

Choose the correct answer from the options given below :

(1) A-IV, B-1, C-II, D-III
(2) A-IL B-II. C-III. D-IV
(3) A-IV, B-1I. C-III D-I

(4) A-IL B-IV, C-III., D-I

i 1S 1Y G 11 D1 e Sife)

T eI
3R, TH.

A (R (1|

B RRIU® | 1. |fieed hedq
fden=<

C. |3l & Bif=ecl| L [T amR
R HIE HAT
RUSIER: A

D. |Snf IV. [of. TH. &

= feu U fodedl § T el 3R &l 90+ Sifelu ;

(1) A-IV, B-1, C-II, D-III
(2) A-IL B-II. C-III. D-IV




(3) A-IV, B-1I, C-III D-I
(4) A-II B-IV, C-III, D-I

1[Option ID=8013]
2[Option ID=8014]
3[Option ID=8015]
4[Option ID=8016]

Sl. No.61
QBID:14247536

Match List I with List IT -

LISTI LISTII

A Vs Ciicle ol L Paul Rosenstein Rodan
poverty
Development with

B. |unlunited supplies of II. |Gunnar Myrdal
Labour
Crtical mmmmomeffort | 17 | Actir Tewis
thesis

D. |Asian Drama IV. |Ragnar Nurkse

Choose the correct answer from the options given below :
(1) A-IV, B-1I. C-1, D-III
(2) A-II, B-III, C-I, D-IV
(3) A-I, B-II, C-III, D-IV
(4) A-IV, B-III, C-I, D-II

T 1 S 1Y Gl 11 61 e Sife)
T eI
A [T @ i IR
B ECIEED T RET
G|
B. m{aﬂi’r;gaqﬁ%i I TR HEREd
g1y [dery
¢ wifad Aaq - Secg HR
- T den " |wgfew
D. [® T V. [R5
i fau U faedl & 9§ TEl 3Tk &1 95 Bifoly -

(1) A-IV, B-II. C-1. D-III
(2) A-IL B-III. C-1. D-IV
(3) A-I, B-II, C-III. D-IV




(4) A-IV, B-1II, C-1I, D-IT

1[Option ID=8017]
2[Option ID=8018]
3[Option ID=8019]
4[Option ID=8020]

Sl. No.62
QBID:14247537

Under which Sustamable Development Goal. energy 1s included?
(1) SDG 5

(2) SDG7

(3) SDG 9

(4) SDG 13

Tad e & 59 Teg Selara Soie! InEe Ear 7 a7
(1) SDGS5

(2) SDG 7

(3) 5SDG 9

(4) 5DG 13

1[Option ID=8021]

2[Option ID=8022]

3[Option ID=8023]
4[Option ID=8024]

Sl. No.63
QBID:14247538

What has been the growth rate of the world economy in 20217
(1) 2.6%

(2) 3.9%

(3) 4.8%

(4) 6.1%

2021 # fay srforgen i foerg a3 fead di?
(1) 2.6%

(2) 3.9%

(3) 4.8%

(4) 6.1%

1[Option ID=8025]

2[Option ID=8026]

3[Option ID=8027]
4[Option ID=8028]

Sl. No.64
QBID:14247539




Match List I with Last IT :

LISTI LISTII

A |Canon of Taxation | 1. | Alfred Marchall
Infant industry "

B. Ko it II. |Musgrave

¢, |Detlerential 4§ i o
Incidence

Sl L IV. | Adam Smith
demand

Choose the correct answer from the options given below :
(1) A-IV, B-1. C-III. D-II
(2) A-III. B-1V, C-1. D-II
(3) A-IV, B-III, C-II. D-I
(4) A-II, B-III, C-I, D-IV

Yl 1 Y=l 11 1 (e Sifsu|
T eI

A waﬂ I |3chs AR

B. ﬁﬂiﬁﬂ I |9&ia

] m 1L |thsR® fore

D. [AFT®IdE | IV, [usH &y

-9 iU Y fdsed & 9§ el SR $1 989 DI

(1) A-IV. B-1. C-III, D-T1
(2) A-III, B-IV, C-1, D-II
(3) A-IV, B-III, C-II, D-I
(4) A-II. B-III, C-I, D-IV
1[Option ID=8029]
2[Option ID=8030]

3[Option ID=8031]
4[Option ID=8032]

Sl. No.65
QBID:14247540

Ramesh and Suresh constructed their new house in this year In the national
mcome accounting this transaction is considered as

(1) Inventory investment

(2) Fixed Investment




(3) Consumption on durable goods

(4) Consumption on semi-durable goods

THET SR G F oTE o § U1 70 W S | AP S aEme ¥ 59 9HaeR B
=1 7T

(1) #m@ Ham

(2) =s fFEm

(3) CHNH T=gadl &1 ITHA

(4) S-fewra aegafl &1 9T
1[Option ID=8037]

2[Option ID=8038]

3[Option ID=8039]
4[Option ID=8040]

Sl. No.66
QBID:14247541

Given below are two statements :

Statement I : Narasimhan Committee recommended reduction of SLR (Statutory
Liquidity Ratio) and CRR (Cash Reserve Ratio).

Statement IT : Narasimhan Committee recommended that directed credit
programme should be promoted.

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement IT is false

(4) Statement I 1s false but Statement II 1s true

H €1 BYA U 0 € UF ey (Assertion A) F w9 # ff@d & a1 g8 39& SR
(Reason R) & =4,

HiwyT A: TRRITE SHE 3 19, U, AR, @uiiHe daal gue) #R &L oR. 3R, (Fg
T ) B 92 B g B 2

HRUT R: TG0 HHE & SN0 & HI9R 919 SHmH S Sgial fgar o)
ST HYH & /IS H, A 8T 70 [AeHedl § 9 F98 Iugad IR 1 994 S|

(1) A IR R SHf T8 & oK R, A & 98! o &
(2) A 3R R SHI T8l € iR R, A & 92 oorem 181 &

(3) AT EAFIR TR TS 2
(4) AT TSIz e R ST 2

1[Option ID=8041]
2[Option ID=8042]
3[Option ID=8043]
4[Option ID=8044]

Sl. No.67




QBID:14247542

Given below are two statements :

Statement I : Zammdan system was mntroduced by Lord Cornwallis,

Statement IT : Under Zamindari system village land were held jomntly by
communnities.

In the light of the above statements. choose the correct answer from the options
grven below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true
i 21 BYA 19U T B, UF P (Assertion A) F F9 # A& § & g8 SUS SRU

(Reason R) & ®U #,
AHHYT A: TS SHANTE 5 THIGR] TT 1 JRA &

HRU R: THIGR! T1 & i SHad & G 9 & oHH &I §gad ¥4 9 &1 9Ie|
ST HYH & H|IS H, A 86U 70 fAeedl § 9 998 Iugad IR &1 994 Sl

(1) A IR R SHf T8 & oK R, A & 98! o &
(2) A 3R R SHI T8l € iR R, A & 92 oorem 181 &

(3) AT EAFIR TR TS 2
(4) AT TSIz e R ST 2

1[Option ID=8045]
2[Option ID=8046]
3[Option ID=8047]
4[Option ID=8048]

Sl. No.68
QBID:14247543

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : There 1s automatic change m the net tax revenue when level of
output changes.

Reason R : Automatic stabilization moderate aggregate spending m times of
boom and slow down.

In the light of the above statements. choose the most approprate answer from
the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R 15 correct

i &1 wy= fay 70 B, oF SfHFUT (Assertion A) F w9 F fif@d & a1 guv s9F HRU
(Reason R) & &0 &,

HUHYT A: 98 IdIeA A1 § g4 oidl & a4 Had $1 oG ¥ wWa: ulaa gl
HRU R; W1 WU SRS ol 3K Al H 909 07 &1 IRaTET $9d 5

SUIE HYA & A &, A U U fAsed! § 9 999 Iugad IR &1 994 B




(1) A SRR SHf T8t & SR R, A &I 98! == &
(2) A SRR SH T & SRR, A & 92l suren 18T 8

(3) ATSIE ORI R 98T 81 &
(4) AT Sz R EE 2

1[Option ID=8049]
2[Option ID=8050]
3[Option ID=8051]
4[Option ID=8052]

Sl. No.69
QBID:14247544

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Asgertion A : India's public sector helped in the development of a sound
mdustrial base.

Reason R : Public sector is under state control. The role of state in formulating
appropriate policies and providing financial and other support has helped the
public sector.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

#1991 FvA AU 0 B, U SfHEYE (Assertion A) ¥ w0 H e & O gEU I39F SRU
(Reason R) & ¥4,

HYFY A: YT F G- 87 5 W e R  Gew | wgan fEm

®RU R: 9w 89 U0 & Foamds 21 wgfua it TR &9 SR i aun o=
e &4 ¥ Tsg @ Yfie € gdeiae 89 & §gd Hee el g

SR FUT F A7S |, A" [GE T BFea] § § 999 I9gad IR &1 999 S

(1) A SRR IH ¥l SRR, A 91 951 Orem &
(2) A RRIHITEE SRR, A F1 98 e e B
(3) AT 2afe R g 781 2

(4) A SE 81§ dfe R 981 ¢

1[Option ID=8053]
2[Option ID=8054]
3[Option ID=8055]
4[Option ID=8056]

Sl. No.70
QBID:14247545




Given below are two statements : one is labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A : Theory of social goods provides rationale for the allocation
functions of the budgetary policy.

Reason R : There are certam goods which are non-rival and these are important
for maximizing social advantage.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R 15 not correct

(4) A is not correct but R 15 correct

A &1 Fu fay 7 B, vF afieuT (Assertion A) ¥ w9 F i@ 3 & guv S90S SRU
(Reason R) & ¥0 &,

HHEY A SIfes a% & fagra sucig Hifd & snded &1 &1 [Gaewsiia s 21
HRU R: $ i a4 § o 7R fdg=<! 3R 9Wifas a1y &1 AfUead &3 § Agaqy
SR BUA & AP |, Ad QU T Aded]  § 969 Iugad 9k &1 99 S|

(1) ARREH Tl g AR R, A F1 9e Orem &
(2) A RR 2 o ¥ iR R, A ¥ 9El surem 781 2
(3) A @82 dfea R wdl 781 2

(4) ASE TRl eI R 981 ¢

1[Option ID=8057]
2[Option ID=8058]
3[Option ID=8059]
4[Option ID=8060]

Sl. No.71
QBID:14247546

Country A requires 2 units of labour to produce a unit of X and 5 units to
produce a unit of Y: where as country B require, 3 units of labour to produce a
unit of X and 6 units to produce a unit of Y

(1) A has absolute advantage in the production of good X as well as Y

(2) B has absolute advantage in the production of both good X and Y

(3)

(4)

Though A has an absolute advantage m the production of both goods. it has a
comparative advantage in the production of Y

Though B has an absolute advantage n the production of both goods. X and Y it
has comparative advantage in the production of X

W A B X o5 $ U6 515 & oud &3 & [0 2 SH1s Hugll &1 aed gsdi ¢ HR Y
a5 F UF 5BI5 B 30d B4 & [0 5 515 &, waie oF B ®1 X 9% &1 06 5515 &
S0A B & O 3 5H15 Augd! &1 iR Y 9% B U6 5515 & S0d B¢ & [0 6 5515

FogRl @ oed godl & |
(1) AFTEX & 9y 91y Y 531 B Icdd &3+ § [0 @Y gl
(2) BHUHX iR Y & el & 3099 Fe4 # FRug @y &




(3)

(4)

TgU & A & U9 gF1 a5gall 1 Iodd &34 | -N0e @Y B, 596 U9 Y % &1 odd &4
H U goares @y W E

79 B #1 X o5 AR Y 9% 2F1 &1 39 B4 | [y Y B 596 99 X 7% F1 39d
& H UF geTEs a1y gl

1[Option ID=8061]
2[Option ID=8062]
3[Option ID=8063]
4[Option ID=8064]

Sl. No.72
QBID:14247547

According to the Pareto Criterion, a movement from state A to state B is
desirable :

(1)

(2)

(3)

(4)

if all agents are at least as well off m B as they were in A and at least one of
them is better off.

if all agents are at least as well off in B as they were in A and no one is better
off.

if the agent with lower welfare are found to improve thewr welfare m B in
comparison to A even when those with higher level of welfare in A are found to
witness decline m welfare.

if m B all the agents are having lower difference m their level of utilities

TRl Sfedl (GREl SPISICRTT) & SR g A YU B H Y9a- dd aie-14d o

(1)

(2)

RN e T B E FH I HH Id- ol ¢H1 & ol d 3o A H 9 3R 378
I U $F Y HY 1al 91 8 |

RN T I BEHTAT HAIAT ol U1 & ford1 d g A H ¥ 3R 39
A Ps =R el g |

gig 9 S0 e Toic A DI a1 H B H 307 Hedivl & WX H YR & g1

(3) B, Safd AT I=d HedIvl & TR dlc Toic o © Ol eamr ¥ Sl Tegy H %

&

(4) Tfg B H FHI Toicl & TUHIT & TRI H HH 3R 8

1[Option ID=8065]
2[Option ID=8066]
3[Option ID=8067]
4[Option ID=8068]

Sl. No.73
QBID:14247548




Match List I with Last IT :

LISTI LISTII
A |Industrial District [. |H. Dalton
B. |Kinked Demand Curve II. |A. Marshall
g [Ponmplesofmatimue |y In i sresy
social advantage B
D. |Law of invisible hand IV, |Adam Smith

Choose the correct answer from the options given below :
(1) A-IL. B-III. C-I. D-IV
(2) A-IIL B-II. C-1. D-IV
(3) A-IV. B-I. C-II. D-III
(4) A-L B-IV. C-III, D-II

Tl 1 S 1Y Gl 11 o1 e ®ifo)
T 1 T 11
A | e A R |
B. [Rpfadrmas O 1
C. ﬁm amam.' SIS A |y Uid . Wil
D. |3fe%g e ol figid V. |wsH Yy

- f4u 7T fawedl 7 0 el SR &1 994 Sifo|
(1) A-IL B-III. C-I. D-IV

(2) A-IIL B-II. C-I. D-IV

(3) A-IV. B-1. C-II. D-III

(4) A-I B-IV. C-III. D-II

1[Option ID=8069]

2[Option ID=8070]

3[Option ID=8071]
4[Option ID=8072]

Sl. No.74
QBID:14247549




Match List I with Last IT :

LISTI LISTII
A |Inventory Theoretic Approach I |J. M. Keynes

Liquidity Preference as a
behaviour towards risk

II. |[W. J. Baumol

Money as a temporary abode of
purchasing power

II1. |Milton Friedman

A discontinuous individual
D. |speculative demand for monev  |IV. |James Tobin
function

Choose the correct answer from the options given below :
(1) A-I, B-II, C-IV, D-III
(2) A-IV, B-III, C-II. D-I
(3) A-IL B-III. C-IL, D-IV
(4) A-IV, B-1I, C-III, D-I

T 1S 1Y Yl 11 1 e Sife|

AT g 11

A (3l uRfed E L [o oA &

T aRTH &1 SiEH

LT s I [Ssq, of. 91|

. gfﬁm% M |freeT wisi

D. % v, [oiesifed

S0 R A4 hdh -

i< fau ¢ fasetl o 9 TEl STk &1 999 Hifeiy -
(1) A-I. B-II, C-IV. D-II1

(2) A-IV, B-III, C-II. D-I

(3) A-I, B-IIIL, C-II. D-IV

(4) A-IV. B-1I, C-III, D-I

1[Option ID=8073]

2[Option ID=8074]

3[Option ID=8075]
4[Option ID=8076]

Sl. No.75
QBID:14247550




Match List I with Last IT :

LISTI LISTII
A |Monopolies Inquiry Commission [. |2016
Monopolies and Restrictive Trade -
B. |Practices Act (MRTP Act) | e
C. |The Competition Act III. 1970
D. Eilgelns‘ah'ent:}f and Bankruptey v oo

Choose the correct answer from the options given below :
(1) A-L B-II. C-III. D-IV
(2) A-IL. B-III. C-IV. D-I
(3) A-IL. B-IV. C-III. D-I
(4) A-IV. B-III. C-II. D-I

I 1 o 1Y gl 11 &1 i Sifew|

A1 Tt I
A |UDIEDR F-h ] HHEH I |2016
- O DR U SRIYD I [1965
T sgdeR3 =gy
C. |wfawael sfafmm L [1970
D. [Z9raa-didfcantea ) dis | v. [2002
i feu e faagi § O 9gl 3Tk &1 994 DI :

(1) A-I, B-IL C-II. D-IV
(2) A-IL B-III. C-TV, D-I
(3) A-IlL B-1V, C-III. D-I
(4) A-IV, B-1II. C-II. D-I
1[Option ID=8081]
2[Option ID=8082]

3[Option ID=8083]
4[Option ID=8084]

Sl. No.76
QBID:14247551

Given below are two statements : one is labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A : Green Revolution benefited only Punjab, Haryana and Western
Uttar Pradesh.

Reason R : Irrigation was necessary for the success of green revolution.

In the light of the above statements. choose the most appropriate answer from
the options given below :




(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R 1s not correct

(4) A is not correct but R 1s correct

= &1 B 23U T B, uF iU (Assertion A) F w9 # ffEd & & g6 S9& SRU
(Reason R) & ¥0 &, .

ey A: ga Hifd = Haa dore, ghamnmn aut uidHdl ST UGR &1 5l arH YgaET)

&R R: 5T Hifd &1 96aar & i fi=s smewms 6

SR BUA & AP H, Ard [GU T Aded]  § 9a9 Iugad 9k &1 994 S|

(1) ARREH Tl g AR R, A F1 9e Orem &
(2) A SRR I Wl SRR, A F1 951 arem 76 &
(3) A @82 dfea R wdl 781 2

(4) ASE TRl eI R 981 ¢

1[Option ID=8085]
2[Option ID=8086]
3[Option ID=8087]
4[Option ID=8088]

Sl. No.77
QBID:14247552

Match List I with List IT -

LISTI LISTII
Principle of Absolute i st
A Advinisies 1. |Rybczynski

Effects of factor endowment ;
B II. |Samueslzon
charges on trade

C. | Theory of reciprocal demand |II1. |JAdam Smaith

Factor price equalization I

D. 11 5. Mall
theorem

Choose the correct answer from the options given below :
(1) A-IIL B-II. C-IV. D-I
(2) A-IV. B-IL. C-I. D-III
(3) A-IIL B-I. C-IV, D-II
(4) A-IIL B-IV. C-II. D-I




il 1S 1Y Gl 11 DT fHe Sifor)

T I 11

A |FUgTvEfE | L [RSeEd
YR T IdIGA

B. |ua3igHe uRad-i &l I [SgeH
PEIG]

C. [REReamfEN | I |[tsa iy
JAIGH HRD DHIH !

D. g V. [of oy fid

=d feu U famedl § T el 3R &l 90+ Difulu
(1) A-IIL B-IL, C-IV, D-I
(2) A-IV, B-IL C-I. D-III
(3) A-IIL B-I. C-IV, D-II
(4) A-IIL B-TV, C-II, D-I

1[Option ID=8089]
2[Option ID=8090]
3[Option ID=8091]
4[Option ID=8092]

SI. No

QBID:

.78

14247553

Match List I with List IT :

LISTI LISTII
A |Wealth of Nations [. |David Ricardo
B. |Treatise on Money II. |Jagdish Bhagwati
C. |In defence of globalization II1. |Adam Smith
Principles of Political .
E Economy and Taxation By (ML Kevnce

Choose the correct answer from the options given below :
(1) A-III, B-1V, C-II, D-I
(2) A-I, B-II, C-III, D-IV
(3) A-IV, B-III., C-II. D-I
(4) A-IIL B-I, C-IV, D-III




il 1S 1Y Gl 11 DT fHe Sifor)

Sl E I
A |doY % HE 1 |Sfds Rarst
B. [dICTa 3 &t 11 A R
ERIEE R
e 3E 7 > I |(TsH Y
D. el o 2o V. |9t &g

i fGu e fas el & 9 9gl 3R &1 944 Sifou -
(1) A-IIL B-1V, C-II, D-1

(2) A-IL B-II, C-III, D-IV

(3) A-IV. B-III, C-II, D-1

(4) A-IL B-1, C-IV, D-III

1[Option ID=8093]

2[Option ID=8094]

3[Option ID=8095]
4[Option ID=8096]

Sl. No.79
QBID:14247554

Match List I with Last IT :

LISTI LISTII
A Permanent Income 1 John Maynard
" |Hypothesis " |Keynes
B. Inter-temporal consumption i Ay
models &

C. |Relative Income Hypothesis |III |[ving Fisher

Absolute Income v

D. Hepothesis _|Milton Friedman

Choose the correct answer from the options given below :
(1) A-III B-1V, C-II, D-I
(2) A-I B-II, C-IV, D-III
(3) A-IV, B-III., C-II. D-I
(4) A-IL B-I, C-III., D-IV




il 1S 1Y Gl 11 DT fHe Sifor)

T 1 I 11
A, [ g R e I [FHEE &

B. %‘%%ﬂi TP ST I (fEgeH &l

c. |smufgdemaufderr | m &R
D. |Mugsmmuleeaa | v |fHwamhesad

i fGu 7E fasedl & ¥ 9gl 3R &1 944 $ifolu .
(1) A-IIL, B-II, C-II, D-1

(2) A-L B-IL C-IV. D-III

(3) A-IV. B-IIL, C-II, D-1

(4) A-IL B-L C-IIL D-IV

1[Option ID=8097]
2[Option ID=8098]
3[Option ID=8099]
4[Option ID=8100]

Sl. No.80
QBID:14247555

Given below are two statements :

Statement I : If rows and columns are interchanged and columns into rows the
value of the determinant remains unaltered but the sign changed.

Statement IT : When two rows or columns are imterchanged the numerical value
of the determinant changes but the sign of the determinant remains unchanged.
In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I 18 incorrect but Statement IT 15 correct

TR s Rz

®Y4 | ; Ofe U gRite = ufeaal &1 wail § g we o wnil =1 dfeaot § sgo o a
IR &1 J 751 9eadl & W e 90 wan 21

FYA [1 : 79 &1 I (adjacent) dEaal a1 TGt w= i ST 3199 # g o101 § af 9RUE
F1 MUK A 920 Wdl & W IR &1 55 ufafkia =21 51 21

TOed ®YA F A H, A9 B Reaf # 9 98t 3R =1 554 wifom
(1) FE] AR EF 9a 2
(2) T AR IS 3T 7




G) mAITEE deTFUT Il 3T &
(4) FUH [ A9 2, AT HUT I 99 2

1[Option ID=8101]
2[Option ID=8102]
3[Option ID=8103]
4[Option ID=8104]

Sl. No.81
QBID:14247556

Given below are two statements :

Statement I : The statistical constant of the population are known as parameters.
Statement II : The square root of the standard deviation of the sampling
distribution of a statistic 1s known as the standard error.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I is correct but Statement II is mcorrect
(4) Statement I is incorrect but Statement II is correct

= 1 sy Ry T B

FUq | : 979 & difegen RRRIE F1 999 (Parameter) F5d ¢

&y [1 : giferst & ufdeaa- fdaww % oee famn & o & 99s 37 Fed o
SWRIFd FYF & AAlF H, A f3u U Geegi # 9 95 IR &1 994 i)

(1) =E RIS g8
(2) FYHI ARl aHf s &
(3) Fv [ 9@ & O Hu 11 39 &
(4) TYE ] 2T B AfFT BYF [ 99 &

1[Option ID=8105]
2[Option ID=8106]
3[Option ID=8107]
4[Option ID=8108]

Sl. No.82
QBID:14247557

Given below are two statements :

Statement I : Monopolistic competition involves many sellers of homogeneous
products.

Statement II : The oligopoly involves some producers of standardized or
differentiated products.

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true




F g1 Fy= faw e B

FY [ : SIS Waaiial § 96 awgei & H® el old ol

FUA I1 : JUER # ©oss a1 AudiFa Jel & & [&bal o o
S FUYF & A d, " [4Y 7 fdeedl 7 9 951 I B 994 S|

(1) FF ARl 9 5T 2
(2) FUF] AR I EHf ST &
(3) FY [ 9 &, o Sy 11 29T &
(4) FUH ] 3T E AFT Bua 11 99 &

1[Option ID=8109]
2[Option ID=8110]
3[Option ID=8111]
4[Option ID=8112]

Sl. No.83
QBID:14247558

Given below are two statements :
Statement I : An Adverse supply shock reduces the marginal productivity of
labor.

Statement IT : Output in the short run is a function of the equilibrium condition in

the labor market.
In the light of the above statements. choose the correct answer from the options

oiven below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I 15 false but Statement II 1s true

J= S =ua RRm B

FYA [ : Ufaga i =@ (Shock) 4HE # T IdeHd S FH & odl ol
&Y I : Y BT § IcdIe- 47 SR &1 9 SR &1 FHed sl o

SUEd YA $ HaE §, 496U T iEdd! # 9 ¥ 3T ®1 994 Sifug|

(1) FF ARl 9 5T 2
(2) FUF] AR I EHf ST &
(3) FY [ 9 &, o Sy 11 29T &
(4) T 3O T s [ 99 &

1[Option ID=8113]
2[Option ID=8114]
3[Option ID=8115]
4[Option ID=8116]

Sl. No.84
QBID:14247559




Given below are two statements :
Statement I : A rise in the rate of inflation means that the percentage rise in average

prices 1s higher than the previous one.

Statement IT : The Phillips curve suggests that a fall in unemployment is likely to
lead to lower rates of wage and price mflation.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement [ 1s correct but Statement II 1s incorrect

(4) Statement I is incorrect but Statement I 1s correct

i g1 v fGg o Rl

FY | ; qaEia &1 &X & g+ &1 o 3 i e feat @1 viosa gis of § o )
w11 : Topfers o aarar & & Sierml & fiviee gugdl ud gerwifa &1 o2 &1 &9 Sl
SRIEd HYF @ S H, A QU U fdwel § 6 F6l IR ST 997 Sl

(1) FRI AR Td 7
(2) S AR S s &
(3) ®YH [ 9 &, Ao U9 [ AT &
(4) FYHE] JEO e AET U [ 99 &

1[Option ID=8117]
2[Option ID=8118]
3[Option ID=8119]
4[Option ID=8120]

Sl. No.85
QBID:14247560

Given below are two statements :

Statement I : The number of exchange possibilities that exist in a money
economy exceeds the number in a barter economy.

Statement II : An mcrease m the length of time for which money is held wall
reduce the velocity at which money circulates in the economy.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I i1s correct but Statement II 1s mcorrect
(4) Statement I i1s incorrect but Statement II 1s correct

Fr4 €1 wy= fau w7

wu [ - g srfegaen ¥ Bf5mg semerst =t 9= o @397 (Barter) srfema=n 1
U Y% Bl

FYF 11 : 451 &1 T8 F 999 | g, srfomew | g5 & 909 & o & 55 $ 4|
SR HUA & AP H, g (&0 70 fdeed! 7 | Fgl I B 994 S|

(1) :EIIRINSEI T8
(2) Sy AR II 4T e &




G) mAITEE AeTFUT Il 3T &
(4) FUH [ A9 &, T HUT I 9T 2

1[Option ID=8125]
2[Option ID=8126]
3[Option ID=8127]
4[Option ID=8128]

Sl. No.86
QBID:14247561

Given below are two statements :

Statement I : The main features of the Industrial Policy - 1991 includes abolition of
industrial licensing, diminishing role of public sectors. MRTP limit scraped.
conditions on entry of foreign investment and technology liberalized and so on.
Statement IT : First Industrial Policy Resolution was igsued in 1951.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II 1s correct

52 S Fy= fRu B

wuE [ Stgife $if 1901 1 va fEvarst # sigifies agee &1 o=, adufas aaf
&1 YIS &1 g9, ARG, $1 919 &1 ger, faex=h fHow &1 wfiaf & R =, R
GERIEAEARCARE TR 8-

U 11 : woE S i veae ad 1051 & Nt foan

Fqiad BYF & oTE 8, A fGu U Gee! § 9 95l S &1 994 S|

(1) S AR SH 9 &
(2) ®u= I 3R 11 eHf 39 &
(3) Hu [ 9@ &, o Sy 11 29 2
(4) Y 39 &, Al Sy 11 94 &

1[Option ID=8129]
2[Option ID=8130]
3[Option ID=8131]
4[Option ID=8132]

Sl. No.87
QBID:14247562




Match List I with Last IT :

LIST1I LISTII

National Rural Emplovment

£ Programme (NREP) 1200
Sukanyva Samridhi Yojana II. (1980
Food for work programme

C. FWP) III. | 1983
Rural Landless Emplovment

D. |Guarantee Programme IV |2015
(RLEGP)

Choose the correct answer from the options given below :
(1) A-IV. B-III, C-II, D-I
(2) A-I, B-II, C-IV, D-III
(3) A-IL B-IV. C-1., D-III
(4) A-III B-1I, C-IV, D-I

T 1S 1Y Yl 11 1 e Sife|

AT &I

g T
TR

A I. 12001
BIUEH
(NREP)

ﬁwﬁ“
B (SSY) II. [1980

& & g
C. |Yea &gy | 1L [1983

(FWP)

o yfEee

D I R TR IV 1201
IpIE

(RLEGP)

=1 f<u U famedl § ¥ Ul 3tk &1 904 BHifel :
(1) A-IV, B-IIL, C-II, D-1
(2) A-I B-IL. C-IV, D-III
(3) A-IL B-IV. C-1., D-III
(4) A-IIIL B-II, C-IV, D-1

1[Option ID=8133]
2[Option ID=8134]
3[Option ID=8135]
4[Option ID=8136]




Sl. No.88
QBID:14247563

Who propounded the "Jail Cost of Living Method" for determining the poverty
line?

(1) Prem Krishna Murti

(2) Dadabhai Naroji

(3) Tendulkar Samiti

(4) Amartya Sen

T W B [uia w3 & o o sie offs fifd fafdr &1 wfoores e e

(1) 97 For Afd
(2) ETETHTS ARSI
(3) dgusT HiHd
(4) e o=

1[Option ID=8137]
2[Option ID=8138]
3[Option ID=8139]
4[Option ID=8140]

Sl. No.89
QBID:14247564

Consider the following statements regarding arguments for free trade :

A. Free trade leads to maximization of output, mcome and employment.
B. Free trade prevents monopoly.

C. Free trade protects domestic mdustries.

D. Free trade favors the monopoly.

Choose the correct answer from the options given below :
(1) A and C only

(2) A and B only

(3) C and D only

(4) B and D only

FofefEa syl W 4o IR & Uy § 9 w9 § fdar S

A. I TR SdEH, 34 3R TR &1 HUHaH TRE FeTl o
B. §&d IR USSR &1 AHdl o

C. T IR 9T, ST BT A0 HXal &

D. 5 SR THNISR &1 gaUE &3l o

i feu 7T A&l § 9 999 Iugad 3ok &1 994 S
(1) Faa A 3R C
(2) Had A IR B
(3) Ha@ C AR D




(4) FgaB kD

1[Option ID=8141]
2[Option ID=8142]
3[Option ID=8143]
4[Option ID=8144]

Sl. No.90
QBID:14247565

The core principle of multilateral trading system is :

A. Non-diserimination
B. Reciprocity

C. Protectionism

D. Domestic safeguard

Choose the correct answer from the options given below :
(1) A.B and D only

(2) B and C only

(3) B. Cand D only

(4) A and B only

Sgusa SR Yol & g fasr gl

A, TR-faudism
B. ogwal

C. TI&UETS
D. o] A
i feu 7T el § 9 999 Iugad IR &1 994 S|
(1) Haa A, B 3R D
(2) Faa B &R C
(3) @ B, C 3R D
(4) Faa A IR B

1[Option ID=8145]
2[Option ID=8146]
3[Option ID=8147]
4[Option ID=8148]

SI. No.91
QBID:14247566

Given below are two statements : one is labelled as Assertion A and the other 1s
labelled as Reason R :

Assertion A : India has a big potential demographic dividend.

Reason R : India's population growth rate is declining.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A




(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

i 21 BYA 19U T B, UF P (Assertion A) F F9 # A& § & g8 SUS SRU
(Reason R) & ®U #,

HUHYT A: UG & U Aids THITRNE sHaifegs! aTHiE B

HRU R: U & oded &t gfé & & S o @l 2

ST HYH & 3H[IS H, A 86U 70 fAeedl § 9 998 Iugad IR &1 994 Sl

(1) A IR R SHf T8 & oK R, A & 98! o &
(2) A JRR SH T8l € iR R, A & 92 oorem 181 &

(3) AT EAFIR TS TS 2
(4) AT TSIz e R w1 2

1[Option ID=8149]
2[Option ID=8150]
3[Option ID=8151]
4[Option ID=8152]

Sl. No.92
QBID:14247567

Given below are two statements :

Statement I : A common resource s rival and non-excludable.

Statement II : A public good is non-rival and non-excludable.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct

CIERA I CA G

FU 1 : TH G0 TaryE ufaegslf € Ut TR-3maui® ¢

HUF 11 : Yol g% TR wiaeef qur R sasi® g

SWRIF DY & eie T, - fSU T fdeedi § ¥ 9a9 Iuged 3w &l 994
PIfog|

(1) FYTIAR IS TI 8

(2) Y1 AR I 3T ©

(3) HYTIII ¢, Alh- HYTII AT &

(4) Y13 e. AT FuTna9as

1[Option ID=8153]
2[Option ID=8154]
3[Option ID=8155]
4[Option ID=8156]




Sl. No.93
QBID:14247568

Fiscal policy relates to the Government decision in respect of -

A. Taxation

B. Government spending
C. Government borrowing
D. Repo rate

Choose the most appropriate answer from the options given below :
(1) B and D only
(2) A.B and C only
(3) A and D only
(4) C and D only

fFos T # mer &1 ff g ity @ 9=f@a &2

A, BIRM

B. ¥@n =g
C. TENI YN
D. i ¥e

A feu 7y fowedl # 9 999 Iugad &1 994 B
(1) A B R D

(2) HFAA, B AR C

(3) FE@A SR D

(4) Fa@a@C R D

1[Option ID=8157]
2[Option ID=8158]
3[Option ID=8159]
4[Option ID=8160]

Sl. No.94
QBID:14247569

The following data of an economy 1s given
C =1000 + 0.84
1=3500

The equilibrium level of output 1s

(1) 15000
(2) 1500
(3) 7500
(4) 8000




% srfemawy #1 fear m silEs Ry ffEa g
C=1000+0.84
[ =500

Hrge qe (i) &1 Srasn w) o1 g
(1) 15000

(2) 1500

(3) 7500

(4) 8000

1[Option ID=8161]

2[Option ID=8162]

3[Option ID=8163]
4[Option ID=8164]

Sl. No.95
QBID:14247570

The first derivative of x* 1s
(1) xlogx

(2) y L

(3) x* (1-logx)

(4) x* (1+log x)

x* B WuH A 1 51 M 7
(1) xlogx

(2) xx*1

(3) x* (1-ogx)

(4) x* (1+log x)
1[Option ID=8169]
2[Option ID=8170]

3[Option ID=8171]
4[Option ID=8172]

Sl. No.96
QBID:14247571

The expected value of x for the probability distribution function of the random
variable given below is

x 1(x)
3 O35
& 05




(1) 3.25
(2) 9.5
(3) 6
(4) 12

e aefRse Wiitea dea Bo & sufgm Am-x Pl 2 -
x fx)
3 025
6 0.50

9 0.25

(1) 3.25

(2) 9.5

(3) 6

(4) 12

1[Option ID=8173]
2[Option ID=8174]

3[Option ID=8175]
4[Option ID=8176]

Sl. No.97
QBID:14247572

A standard normal distribution refers to a random wvariable that has a
(1) Mean of 1 and standard deviation of 0
(2) Standard dewviation of 1 and mean of 0
(3) Mean of 0 and standard deviation of 0
(4) Mean of 1 and standard deviation of 1

1% A U fiaen o arefess = @ vefifa s & fogs o
(1) 719 | R A fGge= 0 8
(2) A fage1 SIRAEm 0
(3) 7@ () 3R A fGge= 0 8
(4) #1® 1 SR AFS o 1 8

1[Option ID=8177]
2[Option ID=8178]
3[Option ID=8179]
4[Option ID=8180]

Sl. No.98
QBID:14247573

FRBM Act, 2012 puts a ceiling to fiscal deficit of GDP at
(1) 6%
(2) 5%
(3) 4%




4) 3%

U HELTH, f8faE, 2012 950 90 Mg & e 91e & Jwan 9 e H 8
fFg w Fifa w1 2

(1) 6%

(2) 5%

(3) 4%

4) 3%

1[Option ID=8181]

2[Option ID=8182]

3[Option ID=8183]
4[Option ID=8184]

Sl. No.99
QBID:14247574

The locus of combination of cutput interest rate where the assets market is in
equilibrium, 1s

(1) IS curve

(2) LM curve

(3) BP curve

(4) none of the above

3T3eqc d SIWieY & a0 H1 [§gay, el UNEaR - SI9R Sqa-d # §

(1) IST%

(2) LM3®

(3) BP 3%

(4) 8§ B T8

1[Option ID=8185]
2[Option ID=8186]
3[Option ID=8187]
4[Option ID=8188]

Sl. No.100
QBID:14247575

Startng from the earliest arrange the following in chronological order -

A. Global Fmancial Crisis

B. East Asian Cries

C. Great Depression

D. Gold Standard Mechanism

Choose the correct answer from the options given below :
1) C.D.A.B
2) A.B.D.C
3) C.D.B. A
(4) D.C.B. A




TIE UYH 9 U S 9 &1 S0 SAER Taiyd S|

A. s oo d3e
B. @ ulREms d%e
C. "gE!

D. @ A% gl

i fau v fawedf & € 981 SR &1 994 SIVE ;
1) C.D.A.B

2) A.B.D.C

3) C.D.B.A

4) D.C.B. A

1[Option ID=8189]

2[Option ID=8190]

3[Option ID=8191]
4[Option ID=8192]




